A = IR — B (WA

THDFRR
No. | ikt | k3 |5 wm| TR
1 WAARTT | (e ng il | 1,652.00
2 NI Y=L i H | 1,207.00
3 NI Y=L R | 1,006.00
4 WA S SHT FH 5 H | 1,266.00
5 WA S SHT FH 5 H | 1,765.00
6 WA S SHT FH 5 ZAll 92.00
7 WA asmr /e | T 5 H | 2,841.00
8 FAATH /ey | B A ] 78.00
9 WA (BERETH |22 i | 1,008.00
10 WA (REMETH |22 M| 469.00
11 WA (BEMETH |22 Ji | 988.00
12 WA [#VE BT 5 5 £ 654.00
13 WAATH ey s | AR S| 918.00
14 WA ORI AL | H 946.00
15 WA |DOFITEIE[BAEZE | B | 1,505.00
16 WA (#E BT | A H 61.00
17 WA |ERERTZE T | A H | 2,423.00
18 WA (#EETZ | £ H | 1,185.00
19 WA PEriE |Z5 | 2,117.00
20 WAAT | A i T TSRO A | 890.00
21 WAATT [P PNHT )1 | B[ 416.00
22 WiART | EEIBRNET ) g | A 591.00
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A = IR — B (WA

THDFRR
No. | ikt | k3 |5 wm| TR
23 WA [RFHT EEE | H | 1,114.00
24 WIARTT | T EEE | H | 2,019.00
25 WA [RFHT EEkE | H 451.00
26 7 N F= i L O TG H | 988.00
27 RN EEpi N PN | M| 481.00
28 WA (B TR v JH 93.00
29 WAAT | i IR 2 [ 4| 100.00
30 WiAT  |ERERT A B/ A | 4 | 1,193.00
31 WA PEArmrEE  |#lvE | B | 1,574.00
32 WA (HaLET VB | M| 638.00
33 WEATR | 7805 T AR H | 1,422.00
34 WA & IR a5 H | 1,797.00
35 WA & TR a5 H | 4,232.00
36 WA | R T 7R bR f | 251.00
37 WA |4RET1TTH H 953.00
38 WA [T il H | 2,916.00
39 WA [#EET K S | 734.00
40 WAARTH - [JEh TR Ml | 585.00
41 WA [fE ] H | 1,206.00
42 WA |2 BT | 1,700.00
43 WA | 2B | 1,177.00
44 WA (AT M | 1,701.00
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A = IR — B (WA

+HiDFE R

No. | dimrk | ke = |wp| WH

()
45 FRASTH | JER [t T FE o] JH | 1,444.00
46 AT |ZE AR Fn i 629.00
47 WA [T 5 M 975.00
48 AT |ERE T KA i | 1,143.00
49 I E N H | 2,872.00
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